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8. Let 0 < a < 1 and consider the series
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Show that the Root Test applies, but that the Ratio Test does not apply.
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17. If p > 0, g > 0, show that the series
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converges for ¢ > p + 1 and diverges for g < p + 1.

Sol © Recell  Raoahe's  Tect
G) 1§ there exists o>l and KEN ¢t
R e e
iR s a.los‘alufelf Convergont
W) [ thwe exict x<l md KeN o,
e S e TS

TS et e 419"010\&/\/ conwr0ant

PH) (P )= ()

|[dere, we let  Ma= Gt (4e2) —~(4¢n) ) ardd  wish 4o
a‘FPlY the  Reabels  Tect
AT ht |
Note that IIX o —;;/m’l’
' _ | ' ﬂ(iu— P
TheaJim [n0=02.D] = Jim S ™ = 4-P

_ pthd :
O H 4>, then o] endl %(—%\f, IS Incheacing

40 N Mereage?



\\\\\

ok o e e e g (o lm BS ConWroas

@ IF 9 4ptl | then 4-P<| by Cor ke,

Z(Xh is Miwrggnt ( An 20  tour 01” A)
Pl
@ I+ 9= Pt y FThon NYaZ P+[HA
S s e
ptitin t

1 0 . . N
] (A B A e L O whith s a o{lv%gont Seriel

A b}/ walDM’}Son TfoI e ',POUDWI tlat S’Xv\ I\S' ﬂ;l[’o d’i./egeht




